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Unit 2: Linear Functions STUDY GUIDE

1) Se}ect the relation that does not represent a
funeton- —> X RUPYOTFS]
A'(lsa 11)! (_141 9)! (_111 5)! (21 _7)

B. (5,3),(-3,9),(12,~11), (4, —3),
@(Sr "3), (0: —1), (9! 2)! (51 —7)
D. (~2,10),(-3,7),(14,2), (3, —8)

2.) The table below displays the amount of gas
used and the miles driven in a truck.

?ga;:é f;t)i Miles Driven
1 15
2 32
3 45
4 58
5 69
& .79
‘ 7 "85 .
What is the average miles driven from 4 gallons to
7 gallons? B
A. 7 gallons 9 gallons

C. 13 gallons D. 11 gallons

49-09% . Q7
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+
T
9

Numbers of Cost at Second
Months Station
-3 $3.40.
_ 3.4 44
_ ) 0
4 $3.46
6 $3.52 /+
N
8 _ $3.58
/
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3.) Leonard compared the cost of purchasing a gallon*of gas at two different gas stations.
The function € (x) = 0.07x + 3.25 models the average cost of a gallon of gas at the first gas station after x
months. The table below shows the average cost of a gallon of gas at the second gas station after different
numbers of months. Which statement is true about the two gas stations?

A. The first station had a higher initial price per gallon
and increased at a greater amount per month than the
second station.

B. The second station had a higher initial price per
gallon and increased at a greater amount per month
than the first station. '

C. The first station had a higher initial price per gallon
»0Ol) butincreased at a smaller amount per month than the
second station

+ :
-0l The second station had a higher initial price per

lon but increased at a smaller amount per month
than the first station,
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4.) Which equation is represented by the-graph?

' A3 2.x.+~.;3z'.= 3
| C 2x+y=-3
Qij
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D, 2x—y=-3
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5.) An ordered pair is missing from the table below

x  f)
—1 10

1 8

3 6

5 4

? ? ¥

Write an ordered pair that would prevent the relation
in the table from being a function. ( 8 @ )

6.) The function f(x) = 4x + ]2 models the
yearly mernbersh1p cost for a movie rental club,
where x is the number of movies rented.

Q)

» Last year, Sarah rented 24 movies.q; l O %
» Last year, Tim rented twice the amount of

movies as Sarah. y Ll- ('—l— ?)—f ‘Q\!

How much more did Tim pay last year than Sarah?

A04=10¢ = §qu

J Q0Y

+12

7.) What is the domain of the graph shown below?

- MR\'\ . X
N
y
\% 7
@-25x54 Bty =t
C.-3<x<1 e -

Xy, 1 0 Rigrt

8.) A sequence is shown below.,
© 32,26,20,14, ...,

Which explicit formula can be used to determine
the nth term in the sequence?

A.a,;=6n‘+312 B.a, =6n+38

C.a, = —6n + 32

an = —6n + 38
Q.n‘*-* d(ﬂ“)‘fai

Q= ~(M~1)+39
TUTMH U8
Q= -UN+3ay

9.) Which is the equation of the line that passes through the points (—4, 3)and (2,-6)?

= Ay==2x+3 Crymst-3
A AL \133 o X+
= +3 T+

—




| 10.)

| Which table of values represents a linear function? —3 CO TSTOTY
. ' ROt OF c;homw
X fi(x) f(x) x 0
= | 275 " <~ T =
2 | 423 5 g
- ¢ 8 -4 | 725
M 14 -3 | 54545

11.) A 4-pound bag of popcoriicests-$7:00, and a 9-
pound bag of popcorn costs $15.75. Assuming the cost
of popcorn follows a linear trend, how much would a 3-

pound bag of popcorn cost? \1 — l :I 6 X

4 1(9,15.15)
BIGED )

9- 5
- 7-—175?( 14)
175 Y B

12.) Write the equation of the line graphed below.

by

4

Y

;@
X

{

13.) Ashtyn is saving the same amount of money each
week from babysitting. After 3 wecks, she saves $105.
After 5 weeks, she saves $165. Which equation models
the amount of mon?y Ashtyn will have saved, y, after x

weeks? Y= ||J5~ 0 = 30

Ay= 30x +45S

14.) The graph of a linear function passes through
the points (6 11) and has a slope of m = 3. Which

is an equation of the function? 1

[1=3(4- ]

Y- 1=3K1

- -G—y—-—é@ac——-z-e— x)=3x-7

Q | ﬁ-IOQ BD(X" | |

B.Y = 30x + 15 '1;;(4)_1# EE D.f(x)=3x+7
+m§ SQ\"‘ -

A.y=—_7x—3

15.) Write the equation of a line wfch a slope of —3 that
passes through the point (0, -7).

B.y=7x-3

= —3x—7
X

Cy= —3x+7

16.) What explicit equation represents the pattern

in the table below?
- X y
-4 18 N
_l'E) </ -1 9 N q
Ll_ (\ 3 -3 HIQ
+4 7 55 =l
A.y=§x+2 ‘Tﬂ C.y=3x+9
B.y=—2x+3 =—3x+6
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i7.) Jamie earns income through tips and a weekly

- salary. Her average weekly income can be

approximated by the function I(x) = 10x + 150, where
x is the number of customers she serves per week.
Which statement is true? :

AJ amie earns an average of $10.00 in tips per -
customer she serves and is paid a weekly salary of .

($35e- § 150

B. Jamie serves an average of 10 customers per week
and is paid a weekly salary of $150.

C. Jamie serves an average of 10 customers per week
and earns $150 in tips each week.

D. Jamie earns an average of $10.00 per week and
earns $150 in tips each week.

18.) Use the sequence -7, -3, 1,5, ..
the following exercises:

A. Write the explicit formula:

Q‘ﬂ LV"H l\ -1
= Ly~ 4‘7

B. erte the recursive formula:

= O\ -|-L}‘
i

.to complete

FFindam. "I‘( H’\‘l | =
N ) .

19.) Find the range from the graph below.

[ )

Ru‘nawz RRN

f(x) = 6x —5 for the interval-2 <

U

20.) What is the approximate rate of change for

x <47

21.) The function C(x) = 25x + 99 models the total cost
for a carpet cleaning company to clean a house, where
x number of hours it takes to clean the carpet. What is
the average rate of change between 2 hours and 8

hour;

NINN

$120,000 worth of cars this week

\= DE'(I&)O 000)+300
\= 00NN +300

22.) Kaylee works at a car dealership where she
earns $300 each week in addition to 5% of her
weekly sales. Write and solve a linear equation to
determine what Kaylee would earn if she sold

=.05%X+300 X—WEUQJHN

SO




| 23.) The function g(x) = 20x + 100 model the balance
of Liz’s savings account after x weeks. What is the
meaning of the slope in the function?

A, The initial amount Liz starts with at the
. beginning of each year.

B. The initial amount in Liz's bank account.
@The additional amount Liz saves ecach month.

D. The additional amount Liz saves each year.

24.) The total cost, in dollars, of membership in a
basketball league is given by the function (m) =
35m + 60, where m is the number of months a
person is a member. In dg how much is the
cost of 2 membership for(1 year?

I TON+hS
25(19)+ U0
430,110
$490

25.) Water is being pumped into a 10-foot tall
cylindrical tank at a constant rate.

* The depth of the water is increasing linearly.

e At 1:30 pm, the water depth was 2.4 feet.

* Itis now 4:00 pm, and the de rg)th of the water is

39feet(l 5,9.4)(4,3.9)

@‘5& Lo T+ puk houk

What will the depth (in feet) be at 5100

"™ 8.9 +0.0% (5 £

26.) Two stores have movies to rent.
» The first store charges a $12 per month
membership fee plus $2 50 per movie
rented. — c_{)
. The second store has ho mem ership fee
but charges $4.50 per movie rented.
What is the minimum number of movies a person
would need to rent in a month for the first store to

be a better deal? -I TﬂDV I (U \S

2'}.) The following graph represents Karen’s marathon.
Karen s Marathon

Drisgtancs in Miles

2 & 4

86 ¥ & 8 1w

Time in Hours

During which interval did Karen have the greatest rate of chan
' 4 hours

A. 0 —-2hours

B. 1 -3 hours
o \ 3)3

D. 2 - 5 hours
¥ ¢

28.) The function a{n) = 3k + 2 represents the value
of the nth term in a sequence. What is the sum of the 1%t
and 4% terms of the sequence? .

3+ 3

8 + Ju =(I9

‘ 29.) A funeti'c"m is shown below.
g‘(x) = 16.90 - 1.32x

What isthe value of g(17)?

11.90-1.39(17)




30.) What is the slope of the line that fits this table?

y d
2
T b2
JFLF N 6

10

Y

-3 ‘\

—)+U -
2 dhy (n=3
21 T

33

31.) Find the fourth term of the arithmetic sequence:

: a1 =7
a, =a,_1—15

155,408
, .

32.) Given the function f(x) = 3x — 6 and the graph
of the function g(x) below, determine the greatest x-
intercept.

0=08%-1
R
X:Qr) ~ ]

A. (0,—6)

B. (—2,0)




